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1 100kN/m#E#BZ % 1.00| 0.00 ~ 0.26 103.78 |3m%EFkEZ % -~ — — —| 100kN/m%#E%%| 1.00 [11.12 ~ 11.82 103.78 |3m%EFkEZ % -~ - — —
Th s 1.00| 026 ~ 8.04 100.00 | Zh st | 000 ~ 8.04 | 2.37 11.96 zh s 1.00| 500 ~ 11.12 100.00 | Zh st | 500 ~ 11.82 | 2.37 11.96
2 100kN/m#E#BZ % 1.00| 000 ~ 1.17 117.62 |3mZEF{EZ S -~ — — —| 100kN/mi%#E%%| 1.00 [10.60 ~ 14.44 117.62 |3mZEF{BZ S -~ - — —
Th s 1.00] 117 ~ 8.95 100.00 | Zh st | 000 ~ 8.95| 213 10.76 zh s 1.00 | 500 ~ 10.60 100.00 | Zh st | 500 ~ 1444 | 213 10.76
3 100kN/m#E#BZ % 1.00| 0.00 ~ 0.81 112,13 |3mZEF{EZ S -~ — — —| 100kN/m%#E%%| 1.00 [10.72 ~ 13.06 112,13 |3mZEF{EZ S -~ - — —
Th s 1.00| 081 ~ 8.60 100.00 | ZhList | 000 ~ 8.60 | 2.29 11.56 zhs 1.00| 5.00 ~ 10.72 100.00 | £h st | 500 ~ 13.06 | 2.29 11.56
4 100kN/m#E#BZ % 1.00| 0.00 ~ 053 107.82 |3m%EFkEZ S -~ — — —| 100kN/m%#E%%| 1.00 [10.94 ~ 12.62 107.82 |3m%EF{EZ S -~ - — —
Th s 1.00 | 053 ~ 8.31 100.00 | £h st | 000 ~ 831 | 2.06 10.40 zhs 1.00 | 5.00 ~ 10.94 100.00 | £h st | 500 ~ 12.62 | 2.06 10.40
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00| 0.00 ~ 740 9446 | #h U4t | 000 ~ 0.00 | 1.70 8.58 Th s 1.00| 500 ~ 9.73 9446 | #h U4t | 500 ~ 973 | 1.70 8.58
6 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ - — —
Th s 1.00]| 000 ~ 7.01 8895 | #h L4t | 000 ~ 0.00| 1.76 8.87 Th s 1.00| 500 ~ 873 8895 | #h L4t | 500 ~ 873 | 1.76 8.87
7 100kN/m%E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00 ]| 000 ~ 751 96.04 | Zh U4t | 000 ~ 751 | 1.84 9.30 Th s 1.00| 500 ~ 999 96.04 | Zh U4t | 5,00 ~ 999 | 1.84 9.30
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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